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(4) too (5) to meet (6) Good morning
(1),6) XDWHMEHLHEDT, KX FTEZHD DT LICHE
9%,
2) You'reldYou areD#iiEfF o

4) too I~&F7] &, 5D CKRICEL
5) FIHTEINCE S X, BHZT %L &Z1E, Niceto
meet you, too. [CBHTZWECHELT) LEZX S,

(2)
(3) sorry MHILARE ST
(4)
(5)

) Is this your eraser?
) What is your name?
) She is not from Australia.

(
(2
@
(4)  You are a good soccer player.

fi#

(3)  beBfFADTEXIE, beBFAD%ICnotZE o be from

&



ZHhrPvIRE

~ I~DHETH 3]
4) JEAEFIESD D HEADHIICHE S

Bl | ezz =0 | B

[il(1) were (2) played (3) swimming
(4) had (5 living  (6) read
s

(1) *S9 2 FEFED THE—FITHEE] &7 SbedE DB
%o

@) FABE O TFEE—&XRE] Ok,

(3),(5)  THEAD T —BEAD-ingfz ] DBk, swimdD-ing
ik, FEROmMZERT-ingz D)%, liveD-ingfig,
FEREDex & 5 T-ingZ D %,

(4).6) ARAEE O [EE—EEIE ] OBk, RIS
FllclE, HEETEDDODEEILERICE DD %,
read DBAEIPIE [rixd] ERF L, BEIE [red] EFH
TB T LICHEE,

2](1) was (2 did, ©  (3) Were

(4) was, writing  (5) went  (6) did, O
ITANTCORICHEZ LK TFENDNDH 2 DT, WEEDOIC

%%

@) —RIEEOBEIE O ENE <TG+ didn’t [did not]
+ B DRI~ > DFENE,

(3)  beEhFEDMWETE DREMISIZ, Was [Werel 2 55D
ICiE <,

(@) WEETIED, ilicbeBFNd % DT, writeDFk

BDek & > T-inglblc 3 %,

THAREFRgoDB A dwentic 7% % 6

e Owhat THAE 2 —fkEhE D@L IE DRERMISE,
Did he help us yesterday?

My sister didn’t [did not] make breakfast this morning.
They weren't [were not] watching TV at that time.
How many books did she borrow at the library?

fizEh

(1) —fREhEE WA OREMISCIE, <Did+ 76+ 8E D
JEIE~?> DFENE,

(@) madeld NHEAIE FImake DM A, HEXICT ZDT
<didn’t [did not] +BFADFEE > &9 5,

Q) WMEMETEOEGESIE, beBFA DA DIZICnotz
i<

4) Bzl=dhz5EMFEDOhow manylc, —fREHIEFOME

JEDEEMI S 72 il % o
) We sang an English song in Mr. Wood’s class.

(2) What were you doing at that time?

(3)  Who carried these boxes?

(1) AEHIEEsing DA dsanglc 75 %,

(@) BERIEOwhat THR X % SHET TR ORERI SIS T %,

(3) BEMEIDOwWho THEEIC Y2287 (=FEDY) 27231 %
WEL OB TE, whoDRICERADBEL 2/l 5.
<Who+—f{BiFADMER~?> TTenh~LE Lich]

5
6
1
2
3
4

(]

(
(
(
(
(
(

[4](1

(=]

fRE & RRER

Bl oxz w32 | B
EEA

GEFTZ] <beliai + 85 D-ingll > ZHETE LWV, H
B RACTEIEDHEI TR CH B T L2 KT, EibLBIED
Teh, BEDTENMTEDET, beFAZHENIT S,

(BHEEITE] beBABIEEA X, () ~LTVE
T VD EROXICR S,

G ZEHEITIE] beBlFaM AR 5E, ~LTWVWEL
Tel EVS ERDOICIE S,

(E5A D -ing IEDAE D 20 7z]

O ZOFF-ingZDF 5,
W’J walk — walking ]

@ GHEMNeTHDLZHEIL, el > T-ingZzDl) %,
(5] : come — coming ]

® FERONTFZERQTHS-ingZZDF %,
(il : get — getting ]

[1(1) amlooking  (2) was using

(3) were swimming  (4) Are, eating  (5) is, doing

(1),(4),6) BHEETIEOXIE, CRICnow’s & DBITE 22
TRERIDENND T EDZ,

(2),Q) MWEETIEOE, SOKICthen*Pat that time/x &
DMEZ KT FHADEDNING T EDZ,

(4) HEATIEORERISUZ, bedfFaz FFEOHTICE L,

(6) REMIFZ FOHEITIEORER S, EERFIDRICEITIE
DEEMI 2 HilT %

[2](1) were cleaning ~ (2) is running

(3) were playing ~ (4) knows  (5) had

(4),5) know ~%ZHI>TW3], have [~Zf> T\
%] REDEXSIC, FRAMNIKEZERL TV255E,
TIRIC 570,

aren't  (2) Is, talking  (3) heis

Were, sleeping  (5) they weren't

3)(1)
4)
i
)
),

&

(1
3

TR OGREIE, beBaDEICnotziE < o

6) EITEOREMICEZ % & &ElE, FEMIX DI
BIED T &, #@EDT EMHDYE FbedaZ{E > T
EZ %o

He was not doing his homework at that time.

Why are you sitting on the floor?

Who is playing the piano?

We were having dinner when my father came home

this evening.

(2) BEMEEOWhyDIZRIC, BUEEITIE ORI 2 Hil) %,
sittd, FEROXF (1) ZHRTH 5-ingZ Dl %,

(3) Whob‘*ﬂ‘iiﬁ@ﬁ%&:é@%Iﬁﬁﬁﬁ%@s‘%ﬁ.ﬂ}'{o S
FiDwho, FFEOREIZLTNBHDT, DK<
’%%F"ﬁﬂ-kbeifjﬂ%—I -+ B35 D-inglP~?> OFENIHIC X
E59IC, <EERTEWho+be®iga + BhFA D-ingf~7>
DFRIHICZ > TV B, [FEN~LTWEZDTI ) L



ZHhrPvIRE

il

2 B,

(4) BHiziowhen [~E & Zfliv, [~LizeE, L
TWVWELE] OX#ZIED, have [~FRAXRZ | LS
FERRTERTHDNS L&, EITEICEE 5,

T RIEEEEESTE R

(BhEhE] ShEA DB ORNICE &, BEEcOA N ARE
I 2@E%2T %,
[Jcan ~ T~T% %] (=be able to ~)
P canDiE LB idcould [~T&7z]) 1Kk %,
Ccan't [cannot] ~ [~T &7z
[(OMay [Can] 1 ~? [~LTCT&EXWVTTH]
[Jwill [Can, Could, Would] you ~?
[~LTEHAXTh]
P Could®WouldZffi5 &, Kb TELELHRICKS,
wouldlZwillDE LI,
Omust ~ T~UZ&a N7 5750
(=have [has] to ~)
CImust not [mustn’'t] ~ F~LU TiEW TR0
P mustn’'tOFEE [mA snt] ITHEL
[(ldon't [doesn't] have to ~ [~ 2083750
Clshould ~ T~4 2 X&TH5 |
(kR ET]
CO<will+BFADKFE> [~TL & 9
[~4 %28 DT
[1<be going to+#FHADEE> [~9 % FETY
P TICITH T RO TV BEAX, <be going to+
FEADEIE > 215, FEEIE U TheBFAZ N1 %,
) can  (2) are going
) should  (4) could
) hasto  (2) mustnot
)
)
)

[

Will [Can, Could, Would]
May [Can] (2) won't  (3) don't have
Are you going to do your homework today?
(Will WA EE)
(2) Thad to get up at five this morning,
(must/HAE)
(3)  Sam will be able to speak Japanese soon.
(canW A E)

(2) musticiEBEENZNDT, ~LaThE x5k
Mozl &, have[has] to ~DiZEETHShad to ~
ZHWS,

(3) WhEhEZ —DHilI 5T L IETERNDT, [~TED
K2IZHZBTLE D] &, will can ~Tld7x<, will be
ableto ~&9 %,

(5)(1) ($)We can't [cannot] run fast.
(2) (D My sister doesn't have to go to school today.
(3) () How long will you stay in Japan?

RE LR




